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複素数の計算練習 1

(1) −1− 7i− (−3− 6i) (2) −(1− 3i) + 2 + 2i

(3) 2i(−2i + 2) (4) 2i(3− 6i)

(5) (−8 + 2i) (−8− 2i) (6) (6− i) (5− 6i)

(7) (−2 + 2i) (−2 + 2i) (8) (6− i) (6 + i)

(9) (−7− 2i) (−7 + 2i) (10) (−7− i) (−7− i)

(11) (6− i) + (6 + i) (12) (−8 + 5i)− (−8− 5i)
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複素数の計算練習 2

(1) 5 + 5i + (−5− 8i) (2) (−7− i)− 8 + 3i

(3) −i(−8− i) (4) −2i(3i + 1)

(5) (5− 6i) (−8 + i) (6) (−7 + 4i) (−7− 4i)

(7) (1 + 5i) (1 + 5i) (8) (−7− 5i) (−7− 5i)

(9) (3 + i) (3 + i) (10) (−3 + 4i) (−3 + 4i)

(11) (−6 + 6i)− (−6 + 6i) (12) (−5− 4i) + (−5 + 4i)
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複素数の計算練習 3

(1) 3− 3i− (3 + 8i) (2) 1 + 2i + 2− 6i

(3) −2i(−2i− 8) (4) −2i(6 + 4i)

(5) (−6 + i) (−6− i) (6) (4 + i) (−1− 6i)

(7) (−3 + 3i) (−3 + 3i) (8) (3− 4i) (3 + 4i)

(9) (−3 + 3i) (−3− 3i) (10) (−5− 5i) (−5− 5i)

(11) (−7− 4i)− (−7 + 4i) (12) (−5 + 6i) + (−5 + 6i)
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複素数の計算練習 4

(1)
−80

−1− 3i
× −1 + 3i

−1 + 3i
(2)

1
−1− 6i

× −1 + 6i

−1 + 6i

(3)
10

−1 + 2i
(4)

1
1 + 6i

(5)
4 + i

1− 2i
(6)

−8− 9i

2− i

(7)
1

1 + 4i
+

1
1− 4i

=
1× (1− 4i) + 1× (1 + 4i)

(1 + 4i)(1− 4i)
=

1− 4i + 1 + 4i

12 + 42
=

(8)
2

2− i
+

3
2 + i

=
2(2 + i) + 3(2− i)

22 + (−1)2
=

(9)
1

6 + i
+

i

6− i
=

(6− i) + i(6 + i)
62 + 12

=

(10)
1

4 + 2i
− 1

4− 2i
(11)

1
1 + 2i

+
1

1− 2i

(12)
1

6 + 3i
− 1

6− 3i
(13)

4
3− 6i

+
3

3 + 6i
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複素数の計算練習 5

(1)
52

5 + i
× 5− i

5− i
(2)

1
−2 + 5i

× −2− 5i

−2− 5i

(3)
26

1 + 5i
(4)

−3
4 + 4i

(5)
2− 5i

3− 4i
(6)

−3− 7i

2 + 3i

(7)
1

3 + 6i
+

1
3− 6i

=
1× (3− 6i) + 1× (3 + 6i)

(3 + 6i)(3− 6i)
=

3− 6i + 3 + 6i

32 + 62
=

(8)
3

6− 2i
+

4
6 + 2i

=
3(6 + 2i) + 4(6− 2i)

62 + (−2)2
=

(9)
1

3 + 6i
+

i

3− 6i
=

(3− 6i) + i(3 + 6i)
32 + 62

=

(10)
i

5− 2i
+

1
5 + 2i

(11)
1

3 + i
− 1

3− i

(12)
i

3− 7i
+

1
3 + 7i

(13)
1

4− i
+

i

4 + i
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複素数の計算練習 6

(1)
−25

3 + 4i
× 3− 4i

3− 4i
(2)

1
1 + i

× 1− i

1− i

(3)
122

5 + 6i
(4)

−1
1− 5i

(5)
1 + 4i

4− 3i
(6)

−1 + i

2 + i

(7)
1

5 + 2i
+

1
5− 2i

=
1× (5− 2i) + 1× (5 + 2i)

(5 + 2i)(5− 2i)
=

5− 2i + 5 + 2i

52 + 22
=

(8)
1

4 + 3i
+

2
4− 3i

=
(4− 3i) + 2(4 + 3i)

42 + 32
=

(9)
1

4− 4i
+

i

4 + 4i
=

(4 + 4i) + i(4− 4i)
42 + (−4)2

=

(10)
i

5 + 2i
+

1
5− 2i

(11)
1

8− 8i
+

i

8 + 8i

(12)
1

6 + 3i
+

1
6− 3i

(13)
1

6 + 2i
− 3

6− 2i
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複素数の計算練習 7

(1)
−1− 7i

2− i
+
−1− i

2 + i
=

(−1− 7i)(2 + i) + (−1− i)(2− i)
22 + (−1)2

=

(2)
3 + 5i

1 + 3i
− −5 + 3i

1− 3i
=

(3 + 5i)(1− 3i)− (−5 + 3i)(1 + 3i)
12 + 32

=

(3)
−7− 6i

1 + i
+

5 + 4i

1− i

(4)
1− 2i

6− 7i
− 3 + i

6 + 7i

(5)
9 + 2i

3 + i
+

3− 5i

1 + 2i
=

(9 + 2i)(3− i)
32 + 12

+
(3− 5i)(1− 2i)

12 + 22
=

29− 3i

10
+
−7− 11i

5
=

(6)
−1 + 9i

1− i
+

8− i

1− 2i



の-441517556

Copyright 2009-2010かみのドリル http://kaminodrill.sakura.ne.jp/

複素数の計算練習 8

(1)
2 + 3i

3 + i
+
−7− 6i

3− i
=

(2 + 3i)(3− i) + (−7− 6i)(3 + i)
32 + 12

=

(2)
8− 9i

3− 4i
− 1− i

3 + 4i
=

(8− 9i)(3 + 4i)− (1− i)(3− 4i)
32 + (−4)2

=

(3)
−9 + 4i

2− i
− 1− 3i

2 + i

(4)
3 + 7i

1 + i
+

9− 7i

1− i

(5)
4− 3i

1 + 2i
− 2− 3i

3− i
=

(4− 3i)(1− 2i)
12 + 22

− (2− 3i)(3 + i)
32 + (−1)2

=
−2− 11i

5
− 9− 7i

10
=

(6)
−8 + 5i

2 + i
+

5 + 3i

3 + i
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複素数の計算練習 9

(1)
−1− i

4 + 3i
+

1 + 2i

4− 3i
=

(−1− i)(4− 3i) + (1 + 2i)(4 + 3i)
42 + 32

=

(2)
−3 + i

1− i
− 9− 4i

1 + i
=

(−3 + i)(1 + i)− (9− 4i)(1− i)
12 + (−1)2

=

(3)
3− 5i

1− 2i
− 5 + i

1 + 2i

(4)
−7− 5i

3 + 7i
+

3 + i

3− 7i

(5)
2 + i

2− i
− 7 + 9i

4 + 3i
=

(2 + i)(2 + i)
22 + (−1)2

− (7 + 9i)(4− 3i)
42 + 32

=
3 + 4i

5
− 11 + 3i

5
=

(6)
2− 3i

1 + 2i
− 8− 9i

2− i


